=0 & AHE E A A

M RS
A HHIXN2Y
tHel: EARE2A CEERD
SA-ZH - SA(3) - MRAY - BAS Oif o JE N Hlws2
22 XS0 14,353,992 12,843,234 1,510,758
= 5,584,000 5,584,000 0
< 1,273,400 1,262,400 11,000
X 255,000 55,000 200,000
o 7,241,592 5,941,834 1,299,758
HEIH2H 3,600 3,000 600
PHER2H 3,600 3,000 600
oIE2H A 3,600 3,000 600
203 PRFAIH| 3,600 3,000 600
04 EA2IHRFEIH| 3,600 3,000 600
ORNM2ZIRFAY| 300,000 %122 3,600 3,000 600
LAl 43| 1,294,103 834,749 459,354
< 10,000 0 10,000
= 1,284,103 834,749 449,354
MZ2 22T Al JI& 1,294,103 834,749 459,354
== 10,000 0 10,000
i 1,284,103 834,749 449,354
AP RH 11,000 11,000 0
201 22| 10,000 11,000 A1,000
01 At22teld| 10,000 11,000 A1,000
OFINEXNZRI2E 32+
100,000 %501%103] 5,000 6,000 1,000
301 LHEEF 1,000 0 1,000
14 JIEtE &2 1,000 0 1,000
Oz B2d AAZ 1,000,000 1,000 0 1,000
I HNEA SSIHLXA 65,330 62,250 3,080
301 LPEES 63,330 60,250 3,080
11 SALAHIXIRZ 20,280 17,200 3,080
Osd8a 40,0002 %1174 3,080 0 3,080
AMESOAEZH 212,000 202,000 10,000
== 10,000 0 10,000
i 202,000 202,000 0
307 212t01 & 160,000 150,000 10,000
< 10,000 0 10,000
= 150,000 150,000 0
04 SIZFSHAFAL 160,000 150,000 10,000
OAtE i A
160,000,000 160,000 150,000 10,000
< 10,000 0 10,000
i 150,000 150,000 0
ONGHE 2Lt OIS 273,000 233,000 40,000
201 23| 245,000 205,000 40,000
03 A2 240,000 200,000 40,000
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2AX:
T ZH -
o e

chel:

SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
OONAHE 2Lt (HEY HIAEIY
240,000,000 240,000 200,000 40,000
Azt 25t XIRAN 86,274 0 86,274
101 2148 36,274 0 36,274
04 DIt HIREXNSES 36,274 0 36,274
OsEAESEAAY =& 2IAHY| 36,274 0 36,274
0olIE= 78,880 101x2472! 19,484 0 19,484
0= 78,8802 101x502! 4,102 0 4,102
0Fe22e 78,8802 %1 Q1+502 *150% 5,916 0 5,916
0AX =L 78,8802 +1Q1x 152 1,184 0 1,184
0=0193 28,317,92021%4 . 5% 1,275 0 1,275
022 28,317,92021%3.545% 1,004 0 1,004
A |LUEE 1,003,8702%12.81% 129 0 129
0NEEE 28,317,92024%1.75% 496 0 496
M MEE 28,317,920 %1% 284 0 284
(SESE= 2,400,000& 12! 2,400 0 2,400
201 LBt AH] 45,000 0 45,000
01 At22teld| 5,000 0 5,000
OdLIA EAEN ME 22 X
5,000,000 5,000 0 5,000
03 A2 40,000 0 40,000
OdLIA EASH Z208 HE
100,0002%2003] 20,000 0 20,000
OZLIA DOUIOIE H&23 W=
2,000,0002/%103] 20,000 20,000
301 LEEF 5,000 5,000
11 HAABIXI2S 5,000 0 5,000
Ous I AL FAT B4
25,0002%20%*103] 5,000 0 5,000
2025 ARl of 320,000 0 320,000
201 LB AY| 180,000 0 180,000
01 At22teld| 80,000 0 80,000
OEEIA HZ 40,000,0002! 40,000 0 40,000
O=EE=E & 40,000,0002 40,000 0 40,000
03 A2 100,000 0 100,000
OYR9| off M4 50,000,000 50,000 0 50,000
OYEo off 222 29 20,000,0002 20,000 0 20,000
OYEo off 22t 29
10,000,00021+33] 30,000 0 30,000
301 LHEHF 10,000 0 10,000
11 #HAAHIXI2S 10,000 0 10,000
OZUMEHE &Y 2,500,000 *43] 10,000 0 10,000
308 XXIHHMSOIHM 30,000 0 30,000
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2A: XS
M 2AZTA 2L
el MZ22 22T Al DI (cHel: &1
SA - B - G9(32) - HIFARY - BES 0 e ol 5 o b=
13 B2 SOCHEHE & X LI EFALZ Y] 30,000 0 30,000
OSNS & JIXtE 52 29
10,000,000&*32! 30,000 0 30,000
401 Al EHIZL LY 100,000 0 100,000
01 Al&H| 100,000 0 100,000
OMEXE= 4X 100,000,000 100,000 0 100,000
Cr2otn XtEsteE 2= 1,496,460 1,293,420 203,040
== 6,000 5,000 1,000
= 1,490,460 1,288,420 202,040
HFAEHESO| MH FX 1,496,460 1,293,420 203,040
< 6,000 5,000 1,000
= 1,490,460 1,288,420 202,040
AHEOIDIX UP EEEE 972,960 849,920 123,040
201 et 3| 248,560 172,420 76,140
01 AtR2telt] 248,560 172,420 76,140
Oget=2H| 246,000 170,500 75,500
0=2etol E2HE OIHE A 24
0& 4,500 24,500
0ZZHEH RS HE o 40,000 240,000
0ZZIEH =EE HE &EX
50,000,000 %A 50,000 0 50,000
OMEE 2HIY ABEEN 2
20,000,000 1Al 20,000 0 20,000
020tz AtE 2 HYAEN 22
20,000,000 %14l 20,000 0 20,000
O2FALR & Farze| HAH 2=
20,000,000 1Al 20,000 0 20,000
0BAEE2 &ol= oHelOtAHE =&
10,000,000 * 1Al 10,000 0 10,000
OSH(AZOIHEHRFHN)
8,000 *401x80A! 2,560 1,920 640
202 O4HI 12,800 10,400 2,400
01 =2LHOIHI 12,800 10,400 2,400
OZZOPIE HRFA
200,000 %401x 12 9,600 7,200 2,400
301 LEt2d= 4,500 0 4,500
14 J|Et243 4,500 0 4,500
O=2ct2l E2MYE 0HE &EHOA 24
9,000&*5009! 4,500 0 4,500
308 AtXISHMSO0I& 707,100 667,100 40,000
13 B2 S0CHEHE & X LI EFAIZ Y] 707,100 667,100 40,000
OZZIHEH 2E M
10,000, 000845 40,000 0 40,000
Oogss: 21 140,000,000 14! 140,000 200,000 260,000
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2N BEEE

HH: (Y5l XslE BRE8
==} =X
- -

ciol: PiRE

SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
OX9S3 2= X2AS
60,000,000 60,000 0 60,000
HZEEE2 HE iR 150,600 112,600 38,000
201 23| 150,600 112,600 38,000
01 AtR2telt] 148,000 110,000 38,000
OZZMEH ZE N
2 ,0002%5,000H*6= 60,000 42,000 18,000
Oz elEx TN iy L M
2.0002%10,000= 20,000 0 20,000
2HBLBEN 2 71,000 51,000 20,000
201 LBt 3| 50,000 30,000 20,000
03 A2 50,000 30,000 20,000
OZHEN =& 5,000,000 %83 40,000 20,000 20,000
2E0IA 8 & sl 47,000 25,000 22,000
< 6,000 5,000 1,000
= 41,000 20,000 21,000
307 212to1™ 47,000 25,000 22,000
< 6,000 5,000 1,000
= 41,000 20,000 21,000
02 SIHBAANHEE 47,000 25,000 22,000
OZ=UA 8 & Est|
47,000,000 47,000 25,000 22,000
== 6,000 5,000 1,000
= 41,000 20,000 21,000
2ZEE 2435 XA 92,520 83,520 9,000
2ZEE 2435 AR =& 92,520 83,520 9,000
SN SHEHALIAXE 2SI 92,520 83,520 9,000
201 LEt23H| 9,000 0 9,000
01 At22teld| 9,000 0 9,000
Os2d stHALIAKNE 222 X
5,0002%1,0007H 5,000 0 5,000
OSod sttgLAXE 28288
200,000 *20H 4,000 0 4,000
2 X2ONE AL 7,955,443 7,455,443 500,000
= 5,584,000 5,584,000 0
< 607,400 607,400 0
BN 255,000 55,000 200,000
i 1,509,043 1,209,043 300,000
Zot2Z N2 AR 7,777,400 7,277,400 500,000
s 5,584,000 5,584,000 0
== 607,400 607,400 0
BN 255,000 55,000 200,000
i 1,331,000 1,031,000 300,000
A4 JUZ OIFZ EXSA 200,000 0 200,000
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2AX:
X{XH -
o e

chel:

MO R
lot 08 0
Sy
0K 40 ojon

:

=2

SA - B - B2(3) - NRAY - BYS 0l o ol 8 o HlmE2
X 200,000 0 200,000
401 AEHIZL O] 200,000 0 200,000
BN 200,000 0 200,000
01 Al&H| 200,000 0 200,000
O424 TYZ HTL EXISA
200,000,000 *1A! 200,000 0 200,000
BN 200,000 0 200,000
cHet=0l= Sr=SME2 HESA 300,000 0 300,000
401 AlZHIZ 20| 300,000 0 300,000
01 Al&Hl 300,000 0 300,000
OHHet=0ts s=EMEd HARX 243
L L2USA 300,000,000&*14! 300,000 0 300,000
2ZAE KX 2 3,183,082 3,149,362 33,720
== 650,000 650,000 0
i 2,533,082 2,499,362 33,720
AL =E L 2t 3,183,082 3,149,362 33,720
== 650,000 650,000 0
i 2,533,082 2,499,362 33,720
2HBANE RS 434,845 411,725 23,120
201 LEt23H| 44,980 21,860 23,120
01 At22teld| 12,880 6,320 6,560
Ogt=2H| 10,960 4,400 6,560
OEILIAMEH 2otM Y =2
150,000 % 12 1,800 0 1,800
QRILIAHIH AgotMae] H20 5
121,0002* 12 1,452 0 1,452
QRILIAME sS4 HIIZAA =22
140,000 13| 140 0 140
QEILIAMEH &s20| RAIEs HRHE =
== 110,000 % 12 1,320 0 1,320
QEILIAHIEH SADI gXt=2
154,000 128 1,848 0 1,848
02 Z323H| 32,100 15,540 16,560
OZsd ORtE2xYE HMI|Ie3
830,000 * 12 9,960 3,960 6,000
OgLIAHH &3 700,000 % 12% 8,400 0 8,400
OELIAME S4L e, H3les
180,000 128 2,160 0 2,160
2R I 22| 2Y 914,300 905,500 8,800
201 23| 44,300 35,500 8,800
02 Z323H| 37,240 28,440 8,800
OsHISFHIOE MRS
800,000 +82 6,400 0 6,400
OUHMENZ sdliel &8JIes
300,000 +8 2,400 0 2,400
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